

Lecture 13

Exam Thursday!

Wed Night Review
on Zoom. $\approx 9pm.$

$$A_{22} \begin{pmatrix} x_1 \\ x_2 \\ \vdots \\ x_n \end{pmatrix} = \begin{pmatrix} b_1 \\ 1 \\ b_n \end{pmatrix}$$

$$x_1 = b_1 \Rightarrow x_1 = \frac{b_1}{a_{11}}$$

$$+ a_{22}x_2 = b_2 \Rightarrow x_2 = \frac{b_2 - a_{21}x_1}{a_{22}}$$

- I don't remember seeing a class about forward/backward solve (that was part of the homework) so I struggled it to understand what it was for the homework. I now see that it's also part of the cheatsheet, I miss something about it, or is the reason it's on the cheatsheet because it was on the homework not part of any class?

Edit Delete ...

- nts the remaining system after eliminating part of the same amount of work to compute the first block (like

- The column permutation is an LU decomposition

$$h_n \Rightarrow$$

- 10/7) be included in the exam?

- work 4-1. What's the criterion for using it in

- work 4-1. What's the criterion for using it in

$\alpha_c = \text{fixed} \Rightarrow \text{Richardson / gradient decas.}$

$\alpha_c = \text{fixed} \Rightarrow \text{Richardson / gradient decas.}$

$x \neq \text{"optimal"} \Rightarrow$
gradient descent.

2. term. for complete pivoting

each factorization.

$$f(\underline{x}) = \frac{1}{2} \underline{x}^T A \underline{x} - \underline{x}^T \underline{b}$$

$$g(\underline{x}) = A \underline{x} - \underline{b}$$

$$g(x) = Ax - b$$

$$X_{k+1} = X_k + g_k e_{kj}$$

Just change 1 coord.

erweitert γ_K zu

$$\min_x \frac{1}{2} x_{k+1}^T A x_{k+1} - x_{k+1}^T b$$

$$X_{k+1} = X_k + E_{r,s}^{(k)} \subseteq \dots$$

$$E_{f, \mathcal{S}}^{(k)}$$

$$Y, \sigma \subseteq \subseteq \text{st.}$$

$$\frac{1}{2} x_{k+1}^T A x_{k+1} - x_{k+1}^T b$$

$$\text{Min } \frac{1}{2} (X_k + E_{r,s})^T (A) (X_k$$

$$= (X_E + E_{r,s,E})' \underline{b}$$

~~$\frac{1}{2} x_k^T A x_k +$~~

$$X_k^T A E_{r,s} \subseteq +$$

$$-X_{r,s}^T b = -I_{r,s}^T b$$

$\frac{1}{2} \cdot 100 = 50$ ✓

- Purdue University - Computer Science - David F. Gleich - 2025

2- 0 3 1

→ (*) 2×2 linear system for c .

$$(E_{cc}^T A E_{cc}) c = ?$$

$$\underline{C} = (E_{1,S}^T A E_{1,S})^{-1} E_{1,S}^T \underline{b}$$



University - Computer Science - David F. Gleich - 2025 CS 515